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QUADRATIC EQUATIONS  fraera®

MARKS: 38

Estd. 1982

SEAT NO:

Note:-

1. All Questions are compulsory.
2. Numbers on the right indicate full marks.

Q.1

Q.2

Q.3

Q.4

Q.5

Q.6

Q.7

The product of the roots a8 =

A7 B) =
Q2 D) ¢
Ans:D

The quadratic equation 222 — v/5z +1 =10 has

A) Real roots B) No real roots
C)Both a&b D) None of this

Ans: C

Values of k for which the quadratic equation 2x2 —kx + k = 0 has equal roots is

A) 0 only B) 4
08 D)0, 8
Ans:D

Which of the following equations has 2 as a root?
Ax2-4x+5=0  B)x>+3x-12=0
C)2x°-7x+6=0 D)3x°-6x-2=0

Ans:C

Which of the following is a quadratic equation?
A X2 +2x=1=(4-x2+3 B)x*x?=(x-1)

O(+1)a?+3x=7 D) —-22?=(5-2z)(2x—2)

Ans: C

If 24 +/3isarootofa quadratic equation X2 + px + q = 0 then the values of p and q

A) 4, -1) B) (4, 1)

Q41 D) (2, 3)
Ans : C

If aand B are the roots of the equation x2

and (a - ) is

- 5x + 6 = 0 then the equation with roots (a. + 3)

A)X2-6x+5=0  B)2x%-6x+5=0
O)2x%2-5x+6=0 D)x%-5x+6=0

(1

(1)

(1)

(1

(1

(1

(1)




Ans: A

Q8 % is a root of the equation 22 + kz — % = 0 thenvalue of kis (1
1
A) 2 B) 5
1
@) -3 D) -2
Ans: A
Q.9 The sum of the roots of the quadratic equation 3x2-9x +5=0 (1)
A)3 B) 6
Q-3 D) 2
Ans: A
Q10 The equation 2x% + kx + 3 = 0 has equal roots then the value of k is ()
A) V6 B) 4
0 32 D) 2v/6
Ans:D
Q11 The roots of the quadratic equation 6x2 - x-2=0are (1)
2 1 2 1
N353 8353
2 _ 1 2 1
9373 D7y
Ans:C
Q12 What is the solution of the quadratic equation 2x%-7x+6=07? (1
N-5,2  B)3,2
3 2
Q-2,5 D)2, 3
Given quadratic equation is 2x2 -7x+6=0
2x% - 4x -3x + 6=0
2X(x-2)-3(x-2)=0
x-2=00r 2x-3=0
x=2 Orzx = %
Solution set (%, 2)
Ans:B
Q.13 Which of the following is a quadratic equation? (1

1 7
A) 6X2 = 20 - X3 3)332(5_2):5
02 -3=42? D)5x+7=3x



Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

r— 222 =1

2
2x-4x% =7
4x2-2x+7=0
Here x is the only variable and maximum index of the variable is 2
It is quadratic equation.
Ans:B

The value of discriminant for quadratic equation 2x%-7x-3=0is

A) 23 B)-73
Q73 D) 49
Ans:B

Which of the following equation quadratic equation ?
A)13=-5y2_y3 B) (x 3)+(x-5)=0

O)x+3x=5 D)z® 4+ 1 = 2z

Ans:B

2

What are the value of a,b and c for the quadratic equation 2x“-5x-3=0

Ans : C

State which root of the following x2_4x+3=0 equation.

A) 8 B) 1
Q) -4 D)0
Ans:B
What is the value of K, if one root of the quadratic equation xZ+kx+10=0is 2?
A)7 B) 14
Q) -7 D)-14
Ans:C
One of the roots of equation x2+mx-5=0is2 ; find m.
A) -2 B) —%

1
@) 5 D)2

2

Xx“+m(Xx)-5=0
2)2+2m-5=0
2m-1=0
2m =1
1
R D)
Ans: C

(1)

(1

(1)

(1)

(1)

(1)



Q.20

Q.21

Q.22

Q.23

Q.24

Q.25

Out of the following equations which one is not a quadratic equation?

A)x2+4x=11+x%  B)x?=4x
C)5x2=90 D)2x—x2=x2+5
x% +4x =11 +x°

x2—x2+4x-‘|1 =0

4x - 11 =0is a linear equation.
Ans:A

Given equation is the quadratic equation?
A2 —3=2> B)x(x+5)=2
On-1=2n D)% +(z+2) ==z
Ans:B

V5m? — v/Bm + /5 = 0 which of the following statement is true for this given equation?

A) Real and unequal roots  B) Real and equal roots
C) Roots are not real D) Three roots

(0% — 4ac)(—5)? —4 x /5 x /5=5-20=—15
Ans:C

Which of the following quadratic equations has roots 3, 5?
A)X°-15x+8=0  B)x%-8x+15=0
C)x%+3x+5=0 D)x? +8x-15=0

leta=3,8=5
x% - (3 +5)x + (3 x 5)
C. x% - 8x+15=0
Ans:B
For v/222 — 5z + /2 = 0 find the value of the discriminant.
A) -5 B) 17

Q) v2 D)24/2 — 5

a=1+2,b=-5.c=+2
b —dac= (=57 —4x /2 x/2=25-8=17
Ans:B

The roots of x2 +kx + k=0 are real and equal, find k.
A) O B) 4
C)0or4 D)2

(1

(1

(1

(1)

(1)

(1



A=0
b2—4ac=0

K2 -4k=0
k(k-4)=0
k=4o0ork=0
Ans : C

Q.26  Out of the following equations, find the equation having the sum of its roots -5 (1

A)3x2-15x+3=0  B)x?-5x+3=0

C)x% +3x-5=0 D)3x° +15x+3=0
Ans:B
Q.27 Determine discriminant of given equation 2y2 +11y-7=0 ()
A) 122 B)-177
C) 177 D) -122
Given equation is 2y2 +11y-7=0
Here,a=2,b=11c=-7
D = b2 - 4ac
=11%-4x2x-7
=121 +56
=177
Ans:C
Q.28 What are the roots of x2 + 3x +2 =0 ()
A) -1, -2 B)1,2
Q-1,2 D)1, -2
Given quadratic equation X2+ 3x+2=0
x2 +2x+x+2=0
X(x+2)+1(x+2)=0
(x+2)(x+1)=0
x+2=0 Or x+1=0
X=-2 Orx=-1
Ans:A
Q.29 write the given quadratic equation in standard form x + % =4 (M

A)X2-4x+1=0  B)x2+4x-1=0
Ox2-4x-1=0  D)x®-4x=40



Q.30

Q.31

Q.32

Q.33

Given quadratic equation x 4 % =4
Multiplying throughout by x

x2+1=4x

x2—4x+1=0

Ans: A

Roots of the quadratic equation are

A)-7,6 B) 6, -6
03, -3 D)9, -9
9x%-81=0
9x%-9)=0

x2-9=0

x+3)(x-3)=0
Xx+3=00rx-3=0
x=-30rx=3
Ans : C

If a+ 8= —2,af = —35 then quadratic equation is

for 9x

AxX2+2x+35=0 Bx(—-2x—35=0

Ox2+2x—35=0 Dx2—-36=0

a+ B =—-2,af = —35 isgiven, then quadratic equation is,

22— (a+B)z+aB=0
z? — (-2)z + (—35) =0
22 +2x —35=0
Ans: C

Find root of given equation x2

A) 8 B) 1
O-4 D)0

When x =1

LHS=(1)%-4(1)+3

=1-4+3

=-3+3

=0

=R.H.S
.. Root of the given equation is 1
Ans:B

~4x+3=0

Roots of quadratic equation y2 -5y-24=0 are

A) -3, -8 B)-3,8
0 3,-8 D)3,8

2

-81=0

(1

(1)

(1)

(1



Q.34

Q.35

Q.36

Q.37

y2-5y-24=0

y2 -8y +3y-24=0
yly-8)+3(y-8)=0
(y-8)(y+3)=0
y-8=00ry+3=0
y=8 Ory=-3

.. Rootsare-3and8
Ans:B

Find a8 for quadratic equation 6y2 +17y+12=0
A) -2 B)3
Q2 D) -3

Comparing6y2+17y+12=0withax2+bx+c=0
Weget,a=6,b=17,c=12
_c _ 12 __
aﬂ—z—?—2
Ans:C
9p2 - 5p - 4 = 0 for this equation a + B =

A)% B)‘?"’
C)% D)%4

2+ bx+c=0

Comparing 9p2-5p-4=0with ax
Wegeta=9,b=-5andc=4
_ —(-5

Ans : A

9 9

If a=-7and S =-3the quadratic equation is
Ax?—10x—21=0 B)x+10x+21=0
Ox2—10x+21=0 D)x2+10x+21=0

a=-7and f=-3
a+pf=-T-3=-10
af =-Tx-3=21
The quadratic equation,
2 — (a+pB)z+aB =0

x2 - (-10)x + 21 = 0

x2+10x+21=01is required quadratic equation.

Ans:D

246x+1=0

What is nature of the roots of the quadratic equation 9x
A) Real and equal B) Not real

C) Real and unequal D) None of these

(1)

(1

(1

(1)



Comapring the given quadratic equation with ax?

a=9,b=6c=1

b2 -4ac=(6)°-4x9x 1
= 36-36
=0
The roots of given quadratic equation are real and equal.
Ans:A

+bx + c=0we get,

Q.38 2 (1

Which of the following is one root of the quadratic equation x“-7x+10=07?

A)7 B)5
Q-7 D) -1

Given quadratic equation is x2 -7x+10=0
Letx=7

LHS=72-7(7)+ 10
= 49-49 + 10
=10
£ RH.S

Letx =5

LH.S=5%-7(5)+10
=25-35+10
=-10+10
=0
=R.H.S
5 is the root of given quadratic equation.
Ans:B



